) (€M)

> [
x

ooa

a(d o) (rad)

Ratio

-
<
AN

a0 d ) (cm)

=
'_\
T[T

.IIII; II;II ‘i‘_llllllll: 1OI.2J.!III

10

Rat

0.9

)

-

; = : ; 0.all

-1 0 1 2 3 -3

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_mod-127
—— DQM_TT__mkFit-DQM_mod_updatedmod-127

*|: b
8 k=
2 i -
o b -~ -k -1- --1-
S
< : ¥
: +T
| =* 1 5
: -+
o *
N O A S0 O o N B s o2 O ) O R R B 0
-+ ¥ Lt | 4T
<4 5 : 4+ 4 4

i i =

. ---

. 4

5 e
“r- _+ -1-

i i i

0 1 2 3
TP ® (PCA to beamline)

2 3
TP ® (PCA to beamline)




	Contents
	Page 1


